. TELEDYNE '
$~ INSTRUMENTS SerVICe N Ote
Advanced Pollution Instrumentation

A Teledyne Technologies Company

9480 Carroll Park Drive, San Diego, CA 92121-2251
Phone (858) 657-9800 Fax: (858) 657-9818 Toll Free 1800 324-5190
E-mail: api-customerservice@teledyne.com  http://www.teledyne-api.com

04-009C
2 May, 2007

RETROFIT OF DRYER FOR SAMPLE AND 1ZS IN M200E ANALYZER

l. PURPOSE:
This service note provides instructions for retrofitting a Perma-Pure dryer into the M200E to
simultaneously dry the sample and the 1ZS.

1. TOOLS:
71167, %", 9/16” wrenches
#2 Phillips Head screwdriver
Tube cutter

1. PARTS:
API PN# KIT000201

CAUTION!

\\/\ ELECTROSTATIC
K ) SENSITIVE
i DEVICE

DO NOT OPEN OR HANDLE
EXCEPT AT A
STATIC-FREE WORK STATION

The electronics used in T-API analyzers are sensitive to Electrostatic Discharge (ESD). When
working on any T-API device, please ensure that you are properly grounded prior to handling or
touching any electronic circuitry in the analyzers! For more information on how to protect
sensitive components from ESD during handling, please contact T-API customer service and ask
for the ESD Service note number 03-022A.

IV. PROCEDURE:

1. Remove power to analyzer.

2. Remove cover from analyzer.

3. Remove charcoal/Purafil scrubber from rear panel by disconnecting the tube from the
bulkhead fitting and removing the whole scrubber/filter/tube assy.

4. Remove ¥4” Tygon tube from scrubber and install it onto the new (short) scrubber from the
KIT.

5. Install the new (short) scrubber onto the rear panel with the wider end cap pointing up.
Connect the and tube to the bulkhead fitting marked ZERO on the rear panel.

6. Install the brass bulkhead fitting into the “SPAN” port on the rear panel, with the %" side
facing out.

Retrofit of Dryer for Sample and 1ZS in M200E Analyzer
04-009 RevC
Page 1 of 7

Information contained herein is classified as EAR99 under the U.S. Export Administration Regulations. Export, reexport or diversion contrary to U.S. law is prohibited.



7. Take the Tygon tubing and measure out a length that will fit between the bulkhead fitting
you installed and the top of the scrubber. Add about 1” and cut the tube.

8. Remove the brass nut and ferrules from the top elbow on the scrubber. Take the piece of
Tygon you just cut and push the nut, then the ferrules onto the Tygon tube. Take one of the
brass inserts from the KIT and push it into the end of the tube, then insert the tube into the
brass fitting on the scrubber. Slide the ferrules and nut into place and swage them by
rotating the brass nut 1% turns.

9. Remove the SS nut and ferrules from the %" side of the bulkhead fitting. Push the nut and
ferrules onto the Tygon used in step 7. Take one of the SS inserts from the kit and push it
into the Tygon, then insert the tube into the bulkhead fitting. Slide the ferrules and nut into
place and swage them by rotating the SS nut 1v4 turns.

NOTE: FOR STEPS 9 - 12 PLEASE REFER TO DRAWING #1 (ATTACHED).

10.  Take the Dryer from the KIT.

11.  Loosen the nut at the end of the dryer (Step 10 on Drawing #1). Insert the reducer fitting
into the nut and tighten the nut % turn past finger tight.

12.  Take the ¥” TFE tube from the KIT. Cut the TFE to a length of 3” (7.5CM). Loosen the
nut at the other end of the dryer and insert one end of the TFE tube into the nut. Tighten the
nut ¥ turn past finger tight.

13.  Take the 1/4”-1/8”-1/8” TFE tee from the KIT. Remove the 1/4” nut and ferrules from the
TEE and place them onto the open end of the TFE tube attached to the dryer in the previous
step. Insert the end of the TFE tube into the 1/4" end of the TFE tee and slide the ferrules
and nut into place. Swage the fitting by turning it 1% turns past finger tight.

14.  Take the dryer holder clamp from the KIT (refer to Drawing #2, attached). Attach the
holder clamp to the bracket where the existing dryer is mounted (refer to Drawing #3,
attached). Attach the dryer to the holder clamp with the ends pointing toward the rear
panel, and the tee fitting on top (look at the existing dryer to get a good view of how this
should look).

NOTE: FOR STEPS 15 - 26 PLEASE REFER TO DRAWING #1 (ATTACHED).

15.  Take the remaining ¥4” Tygon tubing and measure out enough to reach from the top side
fitting of the dryer to the vacuum manifold (see #3 on Drawing #1). Cut the tube to fit.
Remove the nut from the dryer fitting (#3 on Drawing #1). Slide the nut onto the end of the
tube. Install a brass insert from the KIT into the end of the tube. Insert the tube end into the
fitting on the dryer. Tighten the nut 1% turn past finger tight.

16.  Disconnect the tube connecting the Exhaust bulkhead fitting to the vacuum manifold at
both ends and set this tube aside (#3 on Drawing #1). Take a ¥4” Brass Nut and front and
rear ferrules from the KIT and slide them onto the open end of the tube from the previous
step. Install a brass insert from the KIT into the end of the tube. Insert the tube into the
elbow fitting on the vacuum manifold (#3 on Drawing #1) and swage it by turning it 1%
turns past finger tight.

17.  Take the remaining ¥4” Tygon tube you removed in previous step. Cut nut and ferrule from
one end. Remove the nut on the bottom side of the dryer. Slide the nut onto the end of the
tube you just cut. Install a brass insert into the end of the tube. Insert the end of the tube
into the fitting on the dryer and tighten it 1% turn past finger tight.

18.  Connect the other end of the tube from step 17 to the EXHAUST bulkhead fitting on the
rear panel.

19.  Standing in front of the analyzer, locate the valves on the Moly. Locate the tee on top of the
left valve. A black tube is connected to the left side of the tee. This tube comes from the
sample filter housing. Disconnect this tee and cut the nut and ferrules off, leaving as much
tube as possible remaining.

Retrofit of Dryer for Sample and 1ZS in M200E Analyzer
04-009 RevC
Page 2 of 7

Information contained herein is classified as EAR99 under the U.S. Export Administration Regulations. Export, reexport or diversion contrary to U.S. law is prohibited.



20.  Remove the 1/8” brass nut and ferrules from the reducer fitting on the end of the dryer (#1
on Drawing #1). Slide the nut and ferrules onto the tube you cut in the previous step. Insert
the tube into the reducer fitting on the end of the dryer. Slide the nut and ferrules into place
and swage the fitting by turning it 1% turns past finger tight.

21.  Take the 1/8” TFE tube from the KIT. Measure the tube to fit between the TFE tee at the
end of the dryer and the left side of the tee on the valve from which you removed the tube
in step 18 (#5 on Drawing #1). Cut tube to fit.

22.  Take the 1/8” SS nut and ferrules from the KIT. Slide the nut and ferrules onto one end of
the 1/8” tube. Insert the end of the tube into the left side of the tee on the valve. Swage the
fitting by turning the nut 1% turns past finger tight.

23.  Take one of the TFE nut and ferrules from the TEE on the end of the dryer and slide them
onto the 1/8” tube you cut in the previous step. Insert the end of the tube into the TFE tee
on the end of the dryer and swage the fitting by turning the nut 1% turns past finger tight.

24.  Take the remaining 1/8” tube and measure the tube to fit between the TFE tee at the end of
the dryer and the SS bulkhead fitting that you installed on the rear panel. Cut it to fit.

25.  Remove the remaining TFE nut and ferrules from the TFE tee on the end of the dryer. Slide
the nut and ferrules onto the TFE tube. Insert the end of the tube into the TFE tee on the
dryer. Swage the nut by tightening it 1% turns past finger tight.

26.  Take the 1/8” SS nut and ferrules from the bulkhead fitting you installed in the rear panel.
Slide the nut and ferrules onto the open end of the 1/8” tube from the previous step. Insert
the end of the tube into the bulkhead fitting and swage the fitting by turning the nut 1%
turns past finger tight.

27.  Power the analyzer and pump on.

28.  Verify that you have no flow or pressure related warnings.

29.  Leak check the unit by pressing the TST button until you see PRESS. Cap the sample inlet
of the analyzer and watch the sample pressure. It will start to decrease. When it has reached
a stable value, compare it to the Rcell pressure. The difference between the two must not be
more than .5”-Hg-A.

30.  Flow check the unit by placing a Flowmeter on the sample inlet. The sample flow must be
550CC/Min +-10%. Press CALZ. The sample flow must be 550CC/Min +-10%. Press
EXIT. Press CALS. The sample flow must remain 550CC/Min +-10%.

Retrofit of Dryer for Sample and 1ZS in M200E Analyzer
04-009 RevC
Page 3 of 7

Information contained herein is classified as EAR99 under the U.S. Export Administration Regulations. Export, reexport or diversion contrary to U.S. law is prohibited.



1. Connect to Sample Filter
2. Connect to Exhaust Blkhd
Fitting
5. Connect to Vacuum Manifold
4. Connect to 1/8 Blkhd
Fitting

- /8, 174, 1/8 5. Connect to NO/NOx Valve

TEE 6. Sample Inlet Port

/. Vacuum Manifold

8. Dryer Assembly

Retrofit of Dryer for Sample and 1ZS in M200E Analyzer
04-009 RevC
Page 4 of 7

Information contained herein is classified as EAR99 under the U.S. Export Administration Regulations. Export, reexport or diversion contrary to U.S. law is prohibited.

DwG # 1,



ATTACH HOLDER TO BRACKET
ATTACH DRYER TO HUOLDER

DWG #2.

INSTALLING A KITOO011S

Retrofit of Dryer for Sample and 1ZS in M200E Analyzer
04-009 RevC
Page 5 of 7

Information contained herein is classified as EAR99 under the U.S. Export Administration Regulations. Export, reexport or diversion contrary to U.S. law is prohibited.



(@ ° - = ° © ©L
q o ==
7 = |
| |
L1 =2
NONE o -
@ © © ==
O D
[ ] =
| =
NEW DRYER
STERP 18
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, R
P P —— P —— — S 5

Retrofit of Dryer for Sample and 1ZS in M200E Analyzer
04-009 RevC
Page 6 of 7

Information contained herein is classified as EAR99 under the U.S. Export Administration Regulations. Export, reexport or diversion contrary to U.S. law is prohibited.



N3IdO ATIVNION =
NOWWNOO =

d3SOT0 ATIVAION =
SINFANOISSY ONILLIA

¢
4
L

ONILLI4
ONILLIA
ONILLI4

3AON Od370LNV NI NO
3A0N XON NI NO

0y3z oLnv
XON/ON

S3LVLIS IATVA

Zs

SS3dd
T30 xd

T30

A

1ony1s3d
El\[ey40]

|
7
7
IS 7 r 7 7
TS [4 , ,
X, - i mmwma i - | — || wsemnuos ——
n ¢ L | AN NEINE | - | |
= | ETeW m AT0N s | o [ ¢ | 7 o
-—
o3z XON/ON L |
7
£s
mmwww N39O €0 1 oy _‘AJ [SINE
Y INOZO ﬁ — NELYS o | Tdvs
TN _
7
! o
_ | = |
T = e 7
(| (C —

MIAYQ SZI/M WYYOVId OILVINNENG

AT04INVA ANNDOVA

JOOZN

Retrofit of Dryer for Sample and 1ZS in M200E Analyzer

Rev C

04-009

Page 7 of 7

Information contained herein is classified as EAR99 under the U.S. Export Administration Regulations. Export, reexport or diversion contrary to U.S. law is prohibited.





